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Lucy’s company hires out bouncy castles for parties.
She needs to buy 4 new bouncy castles.
Lucy finds out the costs from the USA: 1
+ bouncy castles cost 5499 each
+ delivery of 4 bouncy castles costs 5180

Lucy has a budget of £1300 for the cost of the bouncy castles and the delivery.

Use $1=£062

Can Lucy afford to pay for the 4 bouncy castles and the delivery cost?
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Here is Yusef's data collection sheet.

Name Ollheating | Electricheating | Would like solar panels?
Fred v Yes
Pete v No
Hussein v Yes
Uzma v Yes
Katy v No
Dwayne v No
Rina v No
Charles v Yes
Nazanin v No
Tora v Yes

Yusef wants to put the results in a two-way table.
‘The table must separate the data by the type of heating and the decision about solar
panels.

Make 2 two-way table and complete it for Yusef.
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